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E—i# GMATIEEAN]
GMAT Exam Format

Questions Timing

Analytical Writing Assessment

Analysis of an Argument | 30m
Integrated Reasoning 12 30m
Optional break 10m
Quantitative 37 75m

Problem solving
Data Sufficiency

Optional break 10m
Verbal 41 75m
Reading Comprehension 14
Critical Reasoning I
Sentence Correction 16

Total time 230m(approx.)




RFGMATIBE 2 THMES .
- GMATIE (2B NEL, X
- GMATIBAERESHIBE,
. GMATIEEERFSERNIEE, |






SEPFRIER -
GMATIE AR — MRS IBINBERX.,

.

+ Of all the vast tides of migration that have swept through
history(mayb® none was more concentrated than the wave
that brought 12 million immigrants onto American shores.

¥ Of all the vast tides of migration that have swept through
history(perhaps$none was more concentrated than the wave
that brought 12 million immigrants onto American shores.

1B¥maybe Z{ N perhaps / probably
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2.
'/The biII&qj\ir)e/;that a bank disclose to its customers how

long it@vill delay>access to funds from deposited checks.
* The bill requires that a bank disclose to its customers how
long access to funds from deposited checks(s to be delaye

JE'Ebe to do 2N will do
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+ Computers will be used for purposesJikeXdiagnosing equipment
breakdowns or deciding whether to authorize a loan.

¢ Computers will be used for GSuch) purposes @3 diagnosing
equipment breakdowns or deciding whether to authorize a
loan.
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Diabetes, together with its serious complications, ranks as the

nation’s third leading cause of death, surpassed anly by heart

disease and cancer.
(A) ranks as the nation’s third leading cause of death, surpassed
only
(B) rank as the nation’s third leading cause of death, only
surpassed
(C) has the rank of the nation’s third leading cause of death, only
surpassed
(D) are the nation’s third leading causes of death, surpassed only
(E) have been ranked as the nation’s third leading causes of
death. only surpassed
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e.g.
¥ Obama made a significant impact.
g P
) Obama made an impact of great significance.

look> red >book X
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e.g.
. some food allergy
v allergy to some food

(some food allergy 3§ some food allergy)
* some food allergy
A B

* allergy to some food

B prep A
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e.g.
C @om can understand birds.

. Tom@can understand birds.
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f5ll1. Of all the vast tides of migration that have swept

through history, maybe none is more concentrated as
the wave that brought 12 million immigrants onto

American shores in little more than three decades.

(A) maybe none is more concentrated as

(B) it may be that none is more concentrated as

(C) perhaps it is none that is more concentrated than
(D) maybe it is none that was more concentrated than
(E) perhaps none was more concentrated than
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as ... as ...
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f512. Unlike the United States, Japanese unions appear, reluctant to

organize lower-paid workers.

(A) Unlike the United States, Japanese unions appear, reluctant to
organize

(B) Unlike those in the United States, Japanese unions appear
reluctant to organize

(C) In Japan, unlike the United States, unions appear reluctant
about organizing

(D) Japanese unions, unlike the United States, appear reluctant to
organize

(E) Japanese unions, unlike those in the United States, appear
reluctant about organizing



1513. Unlike auto insurance, the frequency of claims does not affect
the premiums_for personal property coverage. but if the insurance
company is able to prove excessive loss due to owner negligence, it
may decline to renew the policy.

(A) Unlike auto insurance, the frequency of claims does not affect the
premiums for personal property coverage,

(B) Unlike with auto insurance, the frequency of claims does not affect
the premiums for personal property coverage,

(C) Unlike the frequency of claims for auto insurance, the premiums for
personal property coverage are not affected by the frequency of claims,
(D) Unlike the premiums for auto insurance, the premiums for personal
property coverage are not affected by the frequency of claims,

(E) Unlike with the premiums for auto insurance, the premiums for
personal property coverage is not affected by the freauency of claims.



- BELEROE:

+ 3) Hask®RR, —EMNTF.

* e.g. Owning a villa is a dream of Tom,
as it is of Jerry.
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James Joyce and Virginia Woolf are often subjected to the
kind of veneration that blurs the distinction between the
artist and the human.

(A) Like the idolization accorded the Brontes and Brownings
(B) As the Brontes’ and Brownings’ idolization

(C) Like that accorded to the Brontes and Brownings

(D) As it is of the Brontes and Brownings

(E) Like the Brontes and Brownings



5.

Of all the possible disasters that threaten American
agriculture, the possibility of an adverse change in

climate is maybe the more difficult for analysis.

(A) is maybe the more difficult for analysis

(B) is probably the most difficult to analyze

(C) is maybe the most difficult for analysis

(D) is probably the more difficult to analyze

(E) is, it may be, the analysis that is most difficult



f5le.
Lacking information about energy use, people tend to overestimate
the amount of energy used by equ )

by unobtruswe eqmpment such as water heaters

(A) equipment, such as lights, that are visible and must be turned
on and off and underestimate that

(B) equipment, such as lights, that are visible and must be turned
on and off and underestimate it when

(C) equipment, such as lights, that is visible and must be turned on
and off and underestimate it when

(D) visible equipment, such as lights, that must be turned on and
off and underestimate that

(E) visible equipment, such as lights, that must be turned on and off
and underestimate it when



7.
Diabetes, together with its serious complications, ranks as_the
nation’s_third leading cause of death, surpassed only by heart

disease and cancer.

(A) ranks as the nation’s third leading cause of death, surpassed
only

(B) rank as the nation’s third leading cause of death, only surpassed

(C) has the rank of the nation’s third leading cause of death, only
surpassed

(D) are the nation’s third leading causes of death, surpassed only

(E) have been ranked as the nation’s third leading causes of death,
only surpasse
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